Mock Test 10" Class
What is the full name of the country UAE, which has hosted IPL in last two seasons?
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A. United America Emirates/ a3noQ&E e9R005° 08¢y
B. United Africa Emirates/ a3o&& esose o)i)oéesb
C. United Arab Emirates/ c30&& e9ed QZ)JéeSD
D. United Australia Emirates/ c30Q86& e.ejg/@)odr DOTES

. What is the missing part in given picture?
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. Which digestive juice digests fat food?
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A. Gastric juice/ 268 8o

B. Pancreatic Juice/ £ 60
C. Intestinal Juice/ esog8 80
D. Saliva/ ereraeo0

The unfertilized ovum develops into male. This process is called as
90¢t0 PDVAEGE WoGLOTT, M BEHAD DBETTON. & PO J2V0ErEd?

A. Fertilization / H0886e0

B. Parthenogenesis/ 3*’93632)?05
C. Regeneration/ @é&ébé

D. Budding/ §58255®0

Which lens should be used by us to observe a complete image of Taj Mahal, while
we are standing in front of it?
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A. Concave/ ersed

B. Convex/ 02356

C. Planar/ 9000

D. Plano Concave / 200 $Herses

If Log 5 + Log X = Log 60, then X is

Log 5 + Log X = Log 60, ®ons, X

A 14

B. 12
C. 55
D. 50

If 2Sin 20 =3 then 0 =
2Sin 20 = V3 es00d, 0 =

A. 30°
B. 60°
C. 90°
D. 45°

If the zeros of the polynomial Kx? + 6x + K is equal then, K =
Kx% + 6x + K e0532008 A0 FTPRTPIRD VAP0 90, K =

A. +/-4
B. +/-5

C. +/-3

D. +/-1

Konkan: Maharashtra; Malabar:
§°oss:5:53.>:350°§3:l; Soerd:

A. Kartanataka/ SU‘D’eos

B. Tamilnadu/ &o¥resd

C. Goa/ B

D. Kerala/ 36%

To form INA, Bose took war of prisoners from which country?
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A. Germany/ ad&b



B. Japan/ 2309
C. ltaly/ )
D. Singapore/ doryrd



